A
H
[T
S ,
ST
E
Mounting block for side mounting of angle
adjustments, spring plunger etc.

Article no Type A B C D E F G H 1 Weight
022160 WGS-FBL1-G1/8" 40 20 15 12.5 30 @5,5 G1/8" G1/8" 9 189
022163 WGS-FBL1-M16x1 50 25 20 14 40 25,5 M16x1 9 35¢g
022413 WGS-FBL1-M22x1.5 50 30 25 15 40 25,5 | M22x1.5 9 409
Material Aluminium

Surface treatment Anodized black
Incl screw M5x16 and washer
B D )
c . E ‘
—‘ —r - H y —
< 5 . [_ - < w
e My =
L
H—— G

Angle adjustment element for curved
and different height of parts.

Article no Type A B C D E F G H | J Screw | Weight
022166 WGS-VF-G1/8" G1/8" 69 50 36 23 20 3,5 12 115 4 M5x16 629
022171 WGS-VF-M16x1 M16x1 | 120,5 100 43,5 26 25 5 22 95 4 M5x20 | 240¢g
Material Aluminium

Surface treatment Anodized black

Incl WGS-LM, screw and springwasher

ProOptima GmbH ¢ Am Schaferbrunnen 11 55268 Nieder-Olm « Telefon +49(0) 6136.762 96-0 ¢ E-mail info@prooptima.de

E:04

www.prooptima.de




